Means

ASI Reaction norms

= B73 == PT
gASI gASI2
0.5+ 054
0.4- 0.4+ I/I
0.3- 0.3 1
0.2 1
0.2} ‘
gASI3 gASI8
0.5 |
0.6 -
0.4+
0.5
0.31 0.4
0.2+ 0.3 -

BV MT




Means

DTA Reaction norms

= B73 = PT
qDTA1 qDTA6
120+ 120 -
100 - 100 -
80+ 80 -
60 - | 601
gDTA8a gDTA8b
120+ 120 -
100+ 100 -
80 80-
60 - : . | 601 . .
BV MT BV MT

qDTA7

120 -

100 -

80 -

60 -

BV

MT




Means

DTS Reaction norms

= B73 = PT
gDTSH1 gDTS6
120 - 120 -
100 - 100 -
80 4 80
60 - ;807
qDTS7 qDTS8
120 - 120 -
100 - 100 -
80 - 80 -
60 - | 60~

BV

MT

BV

MT




gED4

ED Reaction norms

= B73 = PT

gED5

3.75 1

3.25 1

3.00

3.75 1

3.50

3.25

3.00 4

BV

BV

MT

qEDS

3.75

3.50

3.25 -

BV

MT




Means

gqEHA1

EH Reaction norms

= B73 = PT

gEH7

60

50 -

654

60 4

55+

50 -

45 -

BV

BV

MT




Means

EL Reaction norms

= B73 = PT

gEL3 gEL4
9.5- | 9.0
9.0- 8.5
8.5~
8.0
8.0-
7.5+
7.5
7.0 | 7.0
qEL7 qEL8
9.0J 91
8.5-
8 -
8.0-
7.5-
7 -
7.0-

MT




Means

40+

20 -

qEW7

EW Reaction norms

= B73 = PT

gEWS

40

30 -

20+

BV

MT

BV

MT




Means

KPR Reaction norms

= B73 = PT

qKPRS

20 -

18 -

16 -

14 -

124

BV

MT




KRN Reaction norms

= B73 = PT

gKRN1 gKRNS8

181

17 -

Means
>

154

14+

BV MT BV MT




Means

MH Reaction norms

= B73 = PT

qMH3 qMH7
2.0- 20-
1 5' —— 1 .5_ \
. 1.0 -
1.0- :\
0.5
0.5
qMH8 qMH9
2.5- -1
2.0-
2.0 —1
1.5-
1.5+
1.0- 1.0+ \
T T 05 = 1 1
BV MT BV MT




Means

qP_INT10

P_INT Reaction norms

= B73 = PT

qP_INT2

25+

2.0

1.5+

1.0+

0.5+

0.0+

BV MT

BV MT




Means

PH Reaction norms

= B73 = PT

gPH1a
qPH10
150J
e 140 -
140 - 130 -
120 -
130 -
110 -
120 -
qPH8
qPH1b
150 -
150 -
140 -
140 -
130 -
130 -
120 -
120' |

MT




Means

qTBN2

TBN Reaction norms

= B73 = PT

qTBN7

7_
6.0-
6_
55-
5_
50-
4_
45- S
o -0
. 3- . T
4.0}
BV MT BV MT




TKN Reaction norms

= B73 === PT
qTKN7 qTKN8
200 - 200 -
1 60 A 1 60 -
120 - 120 -
80 -
T T 80 T T
BV MT BV MT

qTKN9

200

150 -

100 -

BV

MT




27 4

Means
N
N

214

qTLA1

TL Reaction norms

= B73 = PT

qTL2

27 4

24 -

214

BV

MT

BV

MT




